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Whined p⑤
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The line through the point
^

cx.us#Po(Xo,YosZo

)
to )

and in the¥¥yo )

Pot "

Ev direction A

Is

( x ,y,Z ) = L Xo , To , Zo ) t t

= Gotta ,
yottb ,

ttc}

X =

Xo
tta

Y = yottb
t is any

Z  = Zottc
real number



Ex : Find an equation for the P⑤
line L through Po ( o

, 0,2 ) in

the

direction
of = So ,

3,07 .

-
-

x = O

tot
= O

tZy = O t 3T =3 t 010,922
z = 2

tot
= 2 l
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EI : Find an equation forthe P⑤
line through the points Po ( 2,0 ,

1 )

NZ
and P

, ( 92,3 )
.

→ We need a

pop ,

÷÷÷÷:TXpH 0
.

←
x y

POPT = Go - 2,2
- O

,
3 - I > = C- 32,27

Let 's use
Po ( 2,91 ) as

the point  on
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torqued
pg①

functions
Let C be the curve traced out

by F' I t ) =L fit )
,

gltbhltl )

where f
, g ,

h are
differentiable

functions on ( a
,

b) g-
this is where

Then
I

'
has a

° ¥f÷YE
derivative ( or is differentiable)

on
( a ,b ) and ~
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